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3$57,&,3$7,1*�67$7(6 

3$57,(6�72�7+(�$*5((0(17 

$8675$/,$ 

5HSUHVHQWDWLYH 

0U��&DU\�6FRWW�.HPPLV��)LUVW�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

 

%$5%$'26 

5HSUHVHQWDWLYHV 

+�(��0V��+��(OL]DEHWK 7KRPSVRQ��$PEDVVDGRU�([WUDRUGLQDU\�DQG�3OHQLSRWHQWLDU\��3HUPDQHQW�5HSUHVHQWDWLYH�  

WR�WKH�8QLWHG�1DWLRQV 

0V��-XOLHWWH�5RVLWD�5LOH\��0LQLVWHU�&RXQVHOORU��'HSXW\�3HUPDQHQW�5HSUHVHQWDWLYH�WR�WKH�8QLWHG�1DWLRQV  

0V��.HUHHWD�1LFROH :K\WH��)LUVW�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

0V��1LFROH�1DWDVKD 3DUULV��)LUVW�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

 

%5$=,/ 

5HSUHVHQWDWLYHV 

0U��-RUJH�6HLI�-XQLRU��6HFUHWDU\��)LVKHULHV�DQG�$TXDFXOWXUH 

0UV��%iUEDUD�%RHFKDW�GH�$OPHLGD��6HFRQG�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

0U��)iELR�+LVVD�9LHLUD�+D]LQ��3URIHVVRU��8QLYHUVLGDGH�)HGHUDO�5XUDO�GH�3HUQDPEXFR  

 

%8/*$5,$ 

5HSUHVHQWDWLYHV 

+�(��0U��*HRUJL�3DQD\RWRY��$PEDVVDGRU�([WUDRUGLQDU\�DQG�3OHQLSRWHQWLDU\��3HUPDQHQW�5HSUHVHQWDWLYH�  

WR�WKH�8QLWHG�1DWLRQV 

0V��/DFKH]DUD�6WRLDQRYD 6WRHYD��&RXQVHOORU��'HSXW\�3HUPDQHQW�5HSUHVHQWDWLYH�WR�WKH�8QLWHG�1DWLRQV 

0U��<DYRU�,YDQRY��7KLUG�6HFUHWDU\��3HUPDQHQW�0LVVLRQ� 

 

&$1$'$ 

5HSUHVHQWDWLYHV 

0U��5REHUW�'D\��'LUHFWRU��,QWHUQDWLRQDO�)LVKHULHV�0DQDJHPHQW�DQG�%LODWHUDO�5HODWLRQV  

0V��&DWKHULQH�%RXFKHU��&RXQVHOORU��3HUPDQHQW�0LVVLRQ�  
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789$/8 

5HSUHVHQWDWLYHV 

+�(�6DPXHOX�/DORQLX��$PEDVVDGRU�([WUDRUGLQDU\�DQG�3OHQLSRWHQWLDU\��3HUPDQHQW�5HSUHVHQWDWLYH 

WR�WKH�8QLWHG�1DWLRQV� 

0U��)DNDVRD�7HDOHL��&RXQVHOORU��'HSXW\�3HUPDQHQW�5HSUHVHQWDWLYH �WR�WKH�8QLWHG�1DWLRQV� 

0V��)XOLWXD�6LDRVL 7HDOHL��)LUVW�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

 

 

81,7('�67$7(6�2)�$0(5,&$ 

5HSUHVHQWDWLYHV 

+�(��0U��-RQDWKDQ�5� &RKHQ��$PEDVVDGRU��'HSXW\�3HUPDQHQW�5HSUHVHQWDWLYH�WR�WKH�8QLWHG�1DWLRQV 

+�(��0V��&KHULWK 1RUPDQ�&KDOHW��$PEDVVDGRU��5HSUHVHQWDWLYH�WR�WKH�8QLWHG�1DWLRQV�0DQDJHPHQW�DQG�5HIRUP 
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785.(< 

5HSUHVHQWDWLYH 

0V��'DPOD�)LGDQ��6HFRQG�6HFUHWDU\��3HUPDQHQW�0LVVLRQ 

 

  










